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lexponential + logarithm functions]

1. Evaluate:
a. —3?
b. (=3)7?
1 -2
¢ (5)
d. 273
3
e. 12877
f. (V32)°
2. Evaluate:
4
a. |—
49

e JG)

3. Evaluate:
1 1
83+81%
1
1212-3 ©
2714371
b. —5
4. Evaluate:
2—13—14‘%
aa ——
80.9-1.873

5. Simplify and express the answers with positive exponent
e.

a. 3a1p7?c3

a_2b3c_1

b a~3bc?

c. (2a 'p?)73
2a~1\ 2

d. ( 3b )

6. Simplify fully:

a. xa—b,xa+b
a—-b

b. 5

C. 9%27%
x a y 2a

d () (3) e
CRNCN

e. e

f. (x¥)P +«x¢
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b.

f
g. )
h. (25a72b*)7z

243
125
2162
363
8—4
1673

(481)

g:— 110+ ()

(a2 +b)(@a3—-b7?)
(a—3 _ a3)2

2
(8a®bh%)z

8%-16Y

322
9a,3a+2

27a—1

3¢ 4+ 3% 434
1+a~1

1-a™1
X1yt
x~1—y-1

x 14yt
(x+y)~?
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7. Given 2 = 10°3%1 and 3 = 10%477 and 5 = 10°¢%° express each of the following as a

power of 10:
a. 6

b. 2

3
c. 8

d. 75
e. V5

8. The number of bacteria in a culture doubles every 2 hours. Find the number of bacteria
present after 3 hours and after n hours, if there were originally 100 bacteria.
9. In an experiment, a culture of 1000 bacteria grew to 16 000 in 2 hours. Find the

doubling rate and the number of bacteria after n hours.

10. If principal P earns interest i, compounded n times, the final amount A of the
investment is A = P(1 + i)™ Find A if P = $1000, i = 8% per year, and n = 10 years.

11. Write the statements in logarithmic form:

a. 23=8
b. 372=1
9

12. Write these statements in exponential form:

a. logs;125=3
b. log, (6—14) =-3
13. Find these logs:
o, ogs ()
b. logs(9V3)
V5
logs (35)
d. log;9*
e. logi2
2

Q)

14. Given that log;, 2 = 0.301 and log;, 5 = 0.699. Find:

a. logq10

5. g1 ()
C. logip2.5

d. logy, 10000

15. Evaluate:
a. 710g7 3

b 510g5 2+logs 3

16. Solve for x:
a. 8¥ =4x"1

o (5) =)

c. 5%*2=1
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1
164 =2

log1 27
3

. logé (237)

10

log ()

logyo 125

logio (%)

. log100.001

3410g3 2
6log6 8—logg 2

25%t2 = 625

X .Qx+1 _ 128
16% -8+ = ——=
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17. Solve for x:

a.
b.
C.
d.
e.

4log, x =log, 16
log; Vx =log3 5
log, 16 =4
log, 25 =4

log, 16 =3

18. Solve for x:

o

oo o
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logz x + log3 5 = log; 20
log, x —log,3 =3

log,(x —3) —logyax =2
logz x +logs(x —2) =1
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. log,3=x
1
. log; (E) =x
. logs4 =x
5

logs(x + 2) + logs(x —3) =
logs 6
2logg(x —3) =loge(5 — x)

worksheets



